THM6F10A278HIT REESELEE BHEHKR

INEERX (EH 1 - BEHEH 3)
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1 RO BEA nvh R 15,407 48,002
2 WH RE& ERRER 19,600 64,039
Ll 3 HiE /B BHRER 28,912 98,370
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LAFEEH 119,002\ 58,281 A 60,721 A
SEEH 65,622 A 32,625 A 32,997 A
N EABATRE 26,800 A 12,567 A 14,233 A
AN FAEEERE 409 A\ 205 A 204 A
A ENEE 1PN 2N 9N
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HMRE 63,919
EUERE 1,702
SERH 65,621
A2E-FLIRY 1
SEERE 65,622
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1 BAREHFO= 3,892.000 427,368.000
2 ERRE®E 9,924.650 856,909.463
3 N L 5,802.000 665,939.000
4 H AR 2,238.000 255,726.000
5 HAXER 2,551.000 334,599.000
6 NAERER 11,430.349 |  1,474,091.358
7 BHRER 18,023.000 [ 1,717,737.000
8 SKR 1,759.000 179,069.000
9 HERER 941.000 90,708.000
10 nivhnER 7,533.000 506,112.000
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LAFEEH 119,002\ 58,281 A 60,721 A
BREEH 65,614 A 32,621 A 32,993 A
A HBERE 26,801 A 12,568 A 14,233 A
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BER 55.14% 55.97% 54.34%
BAUEE 64,094
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BREMLE 65,612
A2E-FHRY 2
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